                                             Describing graphs
  

I. Put the words  in the appropriate column.


[image: image1.png]Go up Go down
increase
fall
decrease
climb
drop
decline
lift
rise

Match the phrases below to the lines on the right.

remain steady
fluctuate
increase slightly
decrease sharply
decrease slightly
increase sharply
drop sharply

stay the same
goupalittle
go down slightly





II. Rearrange the words into sentences & match to the graph.

[image: image2.png]1. Then / will / increase / for / rest of the year
/the / profits / sharply

2.In / slightly / costs / decrease / next few
years / will / the

3. Costs / the / been / sharply / for / rising
last year / have

4. 1/ profits / will / for / next two months
/think / the / drop

5. Profits / have / for / remained / last / six
months / the / steady





                                                         Describing
Graphs
Match
the descriptions to the graph segments.
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                                        Describing Figures. Exercise

Match the following graphs and statements

[image: image5.png]1. There was a peak in customer numbers

|2, Customer numbers were erratic

3. Numbers fell steadily

4. There was a steep rise in customer
numbers

|'5. There was a slight dip in customer
numbers

6. Customer numbers fluctuated wildly

|'8. Customer numbers fluctuated slightly




Answers

A8 B3 C2 D6 E1 F5 G4 H7
                                 IELTS Academic Writing Part One- Worksheet

                                                Trends Bingo

Inst                   Instructions: Worksheet to be copied then cut up into cards- one pack per two students.
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                       IELTS Academic Writing Part One- Worksheet

Trends Bingo

Instructions: Worksheet to be given out after whole class Bingo- one per student.

Students must match sentences to graphs.

[image: image7.png]1. Production started climbing steadily but
flattened off at a level of around 70. Since then,
it has fallen steadily.

2. Production grew more and more rapidly over
the first three quarters but then reached a peak.
Since then, it has quickly dropped.

3. Production grew rapidly in the first quarter,
but reached a plateau of about 70. Since then it
has remained more or le

4. Production has dropped
over the year.

5. Production started the year in a stable
position, but then plunged in the third quarter. It
has now flattened out at a level of 20.

6. Production fell considerably over the first
three quarters, reaching a low of 20. Since then
it has staged a partial recovery.

7. Production has fluctuated all year.

8 Production started off steady, but fell sharply
in the last quarter.

9. Production showed a marginal rise in the first
three quarters, but then suffered a sharp drop.

10. Afiter a considerable drop in the first two
quarters, production bottomed out at 20. Since
then it has started tori

11 Production has experienced a strong, steady
growth over the whole year.

12. There has been a slight increase in
production over the year.

13. There was a rapid drop in production in the
first quarter, but it bottomed out at about 20.





                                 Describing trends (1).

I. Make sure that you can say numbers correctly. Say these.

14   40   17   70                                   2,500 (two ways) 2,560 2,516 25,600 25,660

200,000 225,800 340,000 3,400,000                                    3.8      3.88
II.Study the graphs below which show information for an imaginary company. Note that it is now April and the graphs refer to last year and the first quarter of this year.
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Now work with a partner. You both work for the imaginary company referred to in the graphs.
Name of company:

Main business area:

‘The graphs refer to your company, so:

* Describe and discuss the trends

« Invent reasons for the main movements during your discussion

* Complete the market predictions and think of ideas for new products

Now work with a new partner. Student A discuss the business you have just invented: describe and
explain the graphs and talk about your predictions for the current year. Student B ask questions.
Change roles when you finish.




                                      Describing trends(2)

I.Fill in the gaps using words from the box.
	because      because of     led to     although     in spite of       due  to     resulted in     whereas


                                            Cause and result

1 Profits increased last month ––––––––––––––––––––––––––––––––––––––––– / ––––––––––––––––––––––––––––––––––––––––– our new sales campaign.

2 Profits increased last month –––––––––––––––––––––––––––––we had a new sales campaign.

3 Our new sales campaign ––––––––––––––––––––––––––––––––––––– // –––––––––––––––––––––––––––––––––––––– an increase in profits last month.

Contrast

4 We had a reasonable year in Asia, –––––––––––––––––––––––––––––––––––––––– sales fell a little in Japan.

5 –––––––––––––––––––––––––––––––––––––––– the fall in sales in Japan, we did quite well in the rest of Asia.

6 Sales in Asia last year were quite strong, _____________________ the previous year had been very disappointing.
	                      although / in spite of / whereas

Although In example 4 above the main information is about Asia. The other fact introduced by

although (about Japan) contrasts with it and is surprising.

In spite of In example 5 the main information is also about Asia. Now it is this that seems surprising.

Whereas In example 6 there is a comparison of information of equal importance and no surprise.


Look back at examples 4–6 and make grammar rules by crossing out the wrong words:

although / in spite of / whereas is followed by a noun clause (no verb).

although / in spite of / whereas are followed by subject + verb.
II. One of these phrases sounds strange. Which one? What is the problem?

Prices increased We increased our prices Prices fell We fell our prices.

Read the information about ‘Types of verb’ and complete the examples with words from the box.
	Grow                increase              cut go down                    decrease           maintain


                                                  Types of verb

1 Transitive/Intransitive verbs can be used with or without an object.

We’ll improve/recover/ ––––––––––––––––––––––––––––––––––– / ––––––––––––––––––––––––––––––––––– our market share.

And, using the same verbs:

Our market share will improve/recover/ ––––––––––––––––––––––––––––––––––– / ––––––––––––––––––––––––––––––––––– .

2 Transitive verbs are always followed by an object.

We’ll raise/lower/ ––––––––––––––––––––––––––––––––––– / ––––––––––––––––––––––––––––––––––– her salary. 

(But not Her salary will raise.)

3 Intransitive verbs are never followed by an object.

Inflation will rise/fall/ ––––––––––––––––––––––––––––––––––– / ––––––––––––––––––––––––––––––––––– . 

(But not This policy will rise inflation.)
                               Company trends.(1)
I. Label these graphs with words from the box. 

	to increase,    to fall,    to stay the same,    to be above/below,    to reach a peak ,     to hit a low,  to drop back ,   to recover ,   to stand at,     to remain high,   to fluctuate and then to level off
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II.Answer questions 1–12.

Label these charts with words from the box.
	(line) graph            bar chart           pie chart t         able
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Choose the correct words to complete this presentation extract
[image: image11.png][,u
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I'd like you to look at the () graph/graphic, which shows
our sales in the first (6) halflquarter of this year. The
Vertical axis represents sales in millions of (7) unities/units
As you can see from the graph, sales fose from 5.6m in
January (8) untilfto a (9) figure/number of 5.8m in June.
In other words, sales rose (10) with/by 0.2m.





11 Choose the correct preposition.

a Sales increased by/of/in 3%.                                (after a verb)

b There was an increase in sales by/of/in 3%.       (after a noun and before an amount)

c There was a 3% increase by/of/in sales.              (after a noun and before the topic)
12 Say if these things are good news or bad news:

a Sales increased. 
b Inflation increased. 
c Sales improved.
 d Inflation improved.
                                   Company trends(2)

I. This extract is from a presentation about company results. The presenter is talking about the four graphs below. Fill in the gaps using words from the box.
	Spite    improvement      figures      considerable      leveled      recover     reach      due beginning       rising      over     stable       steadily      relation


Earlier this year our sales (1) ––––––––––––––––––––––––––––––––––––––– were not looking good. Sales had fallen to 1100 units,and at the (2) –––––––––––––––––––––––––––––––––––––––– of March we appointed a new Marketing Director. During April sales began to (3) –––––––––––––––––––––––––––––––––––––––––––––– , although they fell back again in May, probably as a result of

seasonal factors. In July and August there was a (4) –––––––––––––––––––––––––––––––––––––––– ––––––––––––––––––––––––––––––––––––––––– , but in the last few months the growth in sales has (5) ––––––––––––––––––––––––––––––––––––––––––– off and we probably won’t

(6) ––––––––––––––––––––––––––––––––––––– our target of 1600 units by the end of the year.

Our market share remains (7) –––––––––––––––––––––––––––––––––––––––– at about 12% in (8) ––––––––––––––––––––––––––––––––––––––––––– of very aggressive discounting by our main competitor.

Income from company investments is (9) –––––––––––––––––––––––––––––––––––––– –––––––––––––––––––––––––––––––––––––– at the moment, while

our income from sales has, unfortunately, been rather flat over recent years.

In (10) ––––––––––––––––––––––––––––––––––––– to the economic context in which we operate, the outlook remains uncertain.

This is largely (11) ––––––––––––––––––––––––––––––––––––––– to changes in interest rates, which have been going up gradually

(12) ––––––––––––––––––––––––––––––––––––––– the last few months.
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II.Cover the presentation extract above with a piece of paper but leave the graphs showing. Work with a partner. Student A describe and explain the graphs in your own words. Student B ask questions.
III. Prepare and give a presentation to describe and explain some trends in your company. Use simple graphs to support your presentation. Invite and answer questions at the end.
                                      Describing trends.
Vocabulary

Exercise 1
Complete the sentences with words from the box below.
	borrowed          made        gave     invest     owed      saved       spent        wasting 




1. In 2003 the group ____________ £4m from investments in overseas companies. 

2. The accountants advised us to repay 15% of what we ____________ to the banks. 

3. The shareholders criticized the board for ____________ so much money on unnecessary trips abroad. 

4. The company ____________ £5,000 to a local school to set up a computer department. 

5. My stockbroker suggested I should ____________ in a South East Asia Unit Trust. 

6. The government ____________ over £3.5m on a research and development project. 

7. The government ____________ £6.5 billion from the IMF for a construction project. 

8. We ____________ £323,500 in administrative costs by reducing the number of office staff. 

Exercise 2
Complete the sentences with suitable words. The first letter of each word is provided for you. 

1. C____________ spending increases when the public has more money. 

2. He paid all his d____________ and now has no money left. 

3. The u____________ figures show how many people are out of work. 

4. The rate of i____________ shows how fast prices are rising. 

5. Goods which are sold abroad are classified as e____________ . 

6. We pay the staff their w____________ on Fridays. 

7. Does the price include p____________ and packing? 

8. Banks charge their customers i____________ on the money they borrow.
Exercise 3

Complete the tables with suitable words.
	VERB
	NOUN

	to rise
	

	
	a fall

	
	an increase

	to decrease
	

	to improve
	

	
	a recovery


	ADJECTIVE
	ADVERB

	slight
	

	
	sharply

	dramatic
	

	steady
	


Exercise 4 

Sales results 

Choose the correct words in italics to complete the report. 

Sales began the year at 30,000 units in January and increased slight / slightly to 32,000 units in February. 

There was a sharp / sharply rise to / by 38,000 in March due / led to the inroduction of a new price 

discounting scheme. This was followed by a slight / slightly fall in April when sales dropped to 36,000 units. 

Our competitors launched a rival product in the spring and this resulted in / from a dramatic / dramatically fall    to 25,000 in May. But we ran a summer advertising campaign and sales increased steady / steadily to / by 

2,000 units a month throughout June, July and August until they stood in / at 33,000 in September. 

The dramatic / dramatically rise to 45,000 in October resulted in / from the launch of our new autumn range. 

But then we experienced problems meeting demand and sales fell sharp / sharply in November and 

remained steady / steadily at / by 39,000 in December.
Exercise 5

There is one mistake in every sentence. Find the mistake and correct it. 

1. Our supplier's prices increased at 7% last month.

2. Their market share remained steadily between 2003 and 2007. 

3. We lent a lot of money from the bank last year. 

4. We spent too much money in advertising. 

5. Our poor performance last year was resulted to increased competition. 

6. There was a sharp increase on sales last year. 

7. This graph shows our sales numbers for the past month. 

8. Can we cancel our meeting until next week, please? 

9. We hope to achieve a steadily growth in sales. 

10. Salaries felt by a small amount last year.
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These phrasal verbs can all be used to deseribe economic or financial trends:
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                                          Describing graphs
Exercise 1 

Read the reports on the sales results of different division of Sony and match each one 

to the correct graph. 

1. Music group sales went up slightly in 1991, then fell slightly in 1992 and 1993. But 

 best-selling record releases by Michael Jackson, Billy Joel, Mariah Carey, Pearl 

 Jam and many other artists led to recovery in 1994. 

2. There was a sharp increase in Audio Equipment sales in 1991 and another increase 

In 1992. But European market conditions were difficult in 1993 and 1994 and as a result, 

sales fell. 

3. Other sales increased steadily between 1990 and 1994 as a result of the strong 

performance of semiconductors, telephones and CD-Rom drivers. 

4. There was a dramatic rise in Pictures Group sales in 1991 and sales continued to 

increase in 1992 and 1993. But the strong yen resulted in a fall in 1994. In fact, hit 

films such as Sleepless in Seattle and Philadelphia resulted in a rise in sales on 

a local currency basis in the US where we achieved a 19% market share. 

5. Video Equipment sales rose up sharply in 1991 but then fell in 1992 and 1993. 

The decline in the camcorder market led to a further sharp drop in 1994. 

6. Television sales went up in 1991 and continued to rise steadily until 1994 when 

when they dropped slightly. This was in spite of the fact that sales of computer 

displays and wide-screen TVs were strong.
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Exercise 2 

This graph shows the market share of TV channels in Britain. Complete the sentences using words and 

phrases below. 
	rose    remainder      steady      by         fell sharply          to         at      of        went                                from                                    recovered slightly         from
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1. ITV’s market share __________ _________ between 1980 and 1998. 
2. It __________ __________ in 1991, but fell again in 1992. 
3. Between 1980 and 1994 it decreased ________ 50% _________ about 37%. 
4. In the same period, BBC1’s share of the market also __________ down. It fell _______ around 5%. 
5. BBC2’s market share _________ ________ between 1980 and 1994. It stayed _________ about 10%. 
6. Channel 4 started broadcasting in 1982. Between ’82 and ’94 its share __________ to around 10%. 
7. Satellite channels started broadcasting in 1987 and after a slow start, they achieved a market share 

__________ about 8% in 1994.
Exercise 3
A       Read the three articles and match each one to the correct graph. 

A      The Thatcher index

As politicians go, few are as unforgettable as Margaret Thatcher. Ever since she was ousted as 

British Prime Minister in November 1990, her influence has lived on – often to the discomfort of her 

successor, John Major. 

 We asked a computer to count the number of times her name was mentioned in British 

newspapers between the last quarter of 1990 and the first quarter of 1993. Not surprisingly, her 

score dropped sharply when she lost power, falling from 5,634 in the last quarter of 1990 to 1,955 in 

the first quarter of 1991, but then it held up remarkably well at or above the 1,500 level until the 

middle of 1992. 

 Sadly for Thatcherites , it has since dropped again and her score of 1,257 in the first tree months 

of 1993 was the lowest yet. 

B       People power

People power was the slogan of the Philippine revolution in 1986, but sadly for Filipinos, the power 

that boosted GPD in the late 80s seems to be fading. 

 However, things are not as bad as they have been in the past. In 1984 and 1985, the Philippines 

experienced a major recession, with the economy shrinking at an annual rate of 8%. This was largely 

due to the austerity programme forced on President Marcos by international banks. 

 The revolution brought about a change in the country’s fortunes and 1986 saw a growth rate of 

3% which rose steadily to 6% in 1988 and 1989. 1989 was also a good year, with a growth rate of 

just under 6%, but then the second recession began. By 1991, GPD had fallen to -0,5 in the 

following year. 

C       A new dawn

 This time is might be different. There have been many false dawns in the past 18 months on Japan’s 

stock market. But the latest rally, which has seen the Nikkei average rise by over 20% from its low 

point this year of 16,5500 in January, looks the most convincing so far. 

 This will be welcome news to investors who suffered heavy losses in 1992. At the beginning of 

1992, the Nikkei stood at 23,000 and despite four very short-lived rallies in January, February, May 

and July, the index plunged to a low point of just under 14,000 at the end of August. September saw 

the index rocket to over 18,000, only to slump again to 16,000 in November. From then on, the 

market stabilized at around the 17,000 level and investors must be hoping that latest rise to 20,000 

can be sustained. 
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B Read the text again and complete the graphs. Fill in 

- the figures in the right column 

- the dates at the bottom
C Look at these descriptions of the graphs. The first sentences contain adjectives and nouns. 

Complete the second ones using verbs and adverbs. 

Example: 

There has been a dramatic rise in the Nikkei Index. 

The Nikkei Index has risen dramatically. 
1. There was a substantial fall in the Nikkei Index in 1992. 

 The Nikkei Index ______________ in 1992. 
2. There was a slight increase in the number of times Mrs Thatcher was mentioned in late 1991. 

 The number of times Mrs Thatcher was mentioned ___________in 1991. 
3. There was a steady growth in GPD in the Philippines from 1986 to 1988. 

 GPD in the Philippines _____________ from 1996 to 1988. 
D Here are some more sentences describing the graphs. This time fill in the blanks with adjectives 

and nouns. 

Example 

The Nikkei Index fell substantially in 1992. 

There was a substantial fall in the Nikkei Index in 1992. 
1. When Mrs Thatcher lost power, the number of times she was mentioned fell dramatically. 

 When Mrs Thatcher lost power, there was ___________ in the number of times she was mentioned. 
2. The Philippine growth rate decreased rapidly in 1990. 

 There was ___________ in the Philippine growth rate in 1990. 
3. The Nikkei Index rose sharply in September 1992. 

 There was ___________ in the Nikkei Index in September 1992.
                                  Advanced Classroom Language

Complete the sentences with the correct form of the words in brackets and use

another form of each word to complete the second sentences
	reminder   correction    thoughtful    fluently    interruptions    agreement    accuracy    repeat   solution
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                                Advanced Classroom Language answers
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                      IELTS writing task 1: describing charts and graphs
The visual data you have to describe could be a pie chart, flow chart, diagram or graph. Your 

description should be around 150 words long, and you should aim to spend no longer than 

20 minutes on it
Writing tips
*Carefully analyse the table or chart before you start writing. What are the topics and the 

time frame? What do the numbers and labels represent?
*Be clear about what you are describing: A number? A percentage? A price?
*Start by describing the overall situation
*Do not describe every single detail. Find important trends. Select examples that represent the overall picture
*Try not to keep repeating the same language and sentence structures.
*Do not describe the reasons or give your opinions — stick to the facts.
*Finish with a concluding sentence summarising what we learn from the chart.
                      Describing change and making comparisons
In a previous week we looked at key language to describe change through time and to make 

comparisons. Look at the first chart and complete the sentences describing the data. 
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Between 2004 and 2006, costs (1) _______ dramatically, (2) ________ 50 euros to 100 

euros.

There was a sharp (3) ________ in profit, which fell from 100 euros to 50 euros over the 

same (4) _________.

By 2006, costs were (5) ________ as high as profit.
           Spotting important trends and making connections

Often you will be asked to describe and compare information from more than one chart. When you do this it     is important to analyse any connections between the data that is presented. Look at the second set of graphs, and then read the first sample answer.
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Sample answer one
The two graphs show energy consumption in the UK. The first chart shows energy consumption throughout the entire day in households in the winter and summer. In the winter, energy 

consumption is about 3200 watts at midnight. Over the next four hours it falls about 200 watts 

and then rises to a high point of 4200 watts at about 10pm. Consumption then falls dramatically 

back to 3200 watts at midnight.
In the summer, energy consumption is about 1300 watts at midnight. It falls to 1000 watts at 

4am and rises dramatically to 1600 watts at 8am. It then rises slowly to a peak of 2200 watts at 

10pm
If we look at the pie chart, we can see that heating and hot water use 49 percent of household 

electricity. Another 15 percent of electricity is used in the kitchen, washing and drying account 

for 14 percent of usage and 22 percent of electricity is used for other things.
In conclusion, we can see that people in the UK use a lot of electricity in the home.

176 words
This answer describes all the data, but the writer has failed to highlight the key points or make any
conclusions. Also, by repeating numbers and keywords from the graphs, the writer hasn’t shown that he or 

she understands what the data means. Before you write, you need to analyse the data.
6. In the line graph, what is the main difference between winter and summer usage?

7. What similarities are there throughout the day at the two times of the year?

8. What uses more electricity in the home than anything else?

9. What is the connection between the data in the two graphs?
Sample answer two
The two graphs show information about energy consumption at different times of the year and 

how energy is used in British homes.

Overall, we can see that energy consumption is far higher in the winter than in the summer, 

ranging from about 3000 to over 4000 watts. In the summer, consumption is roughly 2000 

watts lower, fluctuating between about 1000 and just over 2000 watts. Interestingly, we can 

see that the daily pattern of consumption is similar at both times of the year, with a low point at 

around four in the morning and a high point at around 10pm, with a similar rise in consumption 

throughout the day.
Turning to the pie chart, we can see that heating and hot water account for almost half of all 

home consumption. Kitchen usage, washing and drying and other uses of electricity each
account for about one sixth of energy usage in the home.
Comparing the two graphs, it seems very clear that winter usage is higher because of the cold 

weather and increased use of heating at that time of year. People also possibly prefer outdoor 

activities during the summer months.

190 words
Answers

Answers 

1 increased/rose 
2 from 
3 drop/decrease/fall 
4 period/time span 
5 twice 
6 Winter usage is much higher
7Energy consumption follows a similar pattern  throughout the day and peaks at about the same time.

8 Heating and hot water. 

 9More energy is used in the winter because of the need  for heating at that time of the year.
                                                  Reading pie charts
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Figure 8.9 Ple charts showing ownership of mobile phones by different income bands

(Source: based on Office for National Statistics, 2002 and 2004h)

Questions

1 In 1996/97 what percentage of mobile phone owning households were from the
top fifth of household incomes?

2 In 1996/97 what percentage of mobile phone owning households were from the
lowest fifth of household incomes?

3 Would it be true to say that in 1996/97 nearly three-quarters of the mobile phone
owning households were in the highest eaming 40 per cent of households?

4 Would it be true to say that in 1996/97 less than one-eighth of the mobile phone
owning households were in the lowest earning 40 per cent?

5 Did the link between household income and mobile phone ownership change over
the next six years? Write a sentence summarising the changes.

6 Whatis the source of the data here?
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